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dprh

IS ≤p Almost− IS

dgked
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diipad

xy`k G′ = (V ′, E′) rawpe G = (V,E) onqp

V ′ = V ∪ {u′, v′}

E′ = E ∪ {(u′, v′)}

.k′ = k + 2 sqepae
.(ix`pil elit`e)inepilet onfa revial zpzip dipad

zepekp

micewcewd ipy ztqeza ⇐ k lceba z"a dveaw Ga yi ⇐ (G, k) ∈ IS (⇒)
.G′a k′ lceba z"a hrnk 'aw zlawzn ,miycgd
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(G, k) ∈ AS okle k lceba z"a 'aw zniiw Ga ok`y miiwzn mixwnd lka .1

Set-Cover - dira

U "mler" zveaw .1 mipezp

S1, S2, ...Sjn ⊆ U zeveaw-zz zniyx .2

k 'qn .3

sqepae |T | ≤ ky jk zeveaw-zz ly T sqe` xegal zexyt` dpyi m`d reawl mivex
.u ∈ Siy jk Si ∈ T zniiw u ∈ V lkl

dprh

V C ≤p Set− Cover
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Set− Cover xear mgi`zn hlw zepal dvxp V Cl (G, k) hlw ozpida

diipad

U = E

dveaw xevip vi ∈ V (G) cewcew lkl
Si = {e ∈ U

∣∣G sxbay zywd ly zeevwd cg` `ed vi}
k′ = k rawp ,seqal
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